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Note: You have four choices for each objective type question as A, B, C aud . The choice which you
think is correct, fill that bubble in front of that question number. Use marker or pen to fill the bubbles.
Cutting or filling two or-more bubbles will result in zero mark in that question, Attempt as many questions
us given in objective type question puper und loave others blank. No crodit will be awarded in casc
BUBRBLES are not Alled. Do not solve questions on this sheet of OBJECTIVE PAPER.
Q.No.1

(1} The largest number of molecules are present in:

(A) 3.6g of H,0 {B)4.Bgof CHOH (C)12.8g of CO (I 54g of N0,

(2)  One mole of 50, contains: (A) 602 = 10 atoms of Oxygen

(B) 18.1 x 102 molecules of §0,  (C) 6.02 x 10* atoms of § (D) 4 gram atoms of SO,
{3)  The comparative rates at which the solutes move in paper chromatography depend on:

{A) The size of paper (B) &, values ol solutes

{C) Temperature of the experiment (D) Size of the chromatographic tank used

(4)  The deviation of a gas from ideal behaviour is maximum at:

(A) =10°C and 5.0 atm (B) -10°C and 20 atm  (C) 100°C und 20 aim  {D) 0°C afid 2 atm
(5}  The order of rate of dilfusion of gases NFf,, SO, C&, and €Oy is:

(AY NHy » S0y = CFy = U0, (B) NH, » COy > 80, » CF,

(©) €2, > S0, > CO, > NI, (D) NHy > CO, > Ct, > SO,
(6)  Amorphous solids:

{A) Huve sharp melting pointa (B} Undergo clean cleavagewhemcut with knife
(C) Have perfect arrangement of atoms (D) Can possess small régions olorderly arrangement

(7} Diamond is a bad conductor because: {A) It has a tight stfucture J{B) It has a high density
(C) There are no free clectrons present in the crystal of diamoid 1@ conduct electricity
(D) Is transparent to light o N

{8)  Inthe ground state of an atom, the electron is presenl

(A) In the nucleus  (B) In the second shell  (€) Nearegt to the nucleus {I) Farthest from the nucleus
{9)  Quantum number values for 21 orbi@ls are:

(AMyn=2 £=1 (Byn=1 £=1 (Cyn=1 é=0 Dyn=2 £=D
{10} The number of bonds in Nigioged molegule is:

(A)One o endone #  (B)Onem@nd two 7 (C) Three sigma only (D) Two o and one 7
(i1) Which of the Hydroged halides fieis the highest percentage of ionic character?

(M) HCE (B HBx {Cy HF (D) HI
(12) The change insheat energy of a chemical reaction, at constant temperalure and pressure is called:

- {A) Enthalgy change” (B) Heat of combustion (C) Bond energy (D) Intemngl energy change

{13y Thesolabilivypraduct of AgCf is 2.0 = 167" mot*dm . The maximum copcentration of

Ag” iongin the solution is. (A) 2.0 = 107" mol dm?

(B) 1.41 % 107 mol dm™ (C) 1.0 x 107"° mol dm™ (D) 4.0 x 107" mol dm™

(14)  Which of the following solutions has the highest boiling point?

(A) 5.85 % sclution of Sodium Chloride (B) 1%.0% solution of Glucose
{C) 6.0 % solution of Uren (D) All have he same boiling point

(15) 18g of Glucose is dissoived in 90g of water. The relative lowering of vapour pressure is equal to:

| . pE
{A) 5 (B3 5.1 {C) ﬁ (I 6

(16)  [f the salt bridge is not used between the two balf cells, ther the voltge:
{A) Decreases rapidly  (B) Decreases slowly  (C) Does not change (D) Drops w0 zere

{17) 1fthe rate equation of a reaction 24 + § —» products is, rate = K14 B),and A is present
in large excess, then the order of reaction is: (A} 1 (B) 2 (C)3 (D)None of these
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NOTE: - Write same question number and its part number on answer book,
as given in the question paper.
T SECTION-I
2 Attempt nny eight parts, 8x21=16
i Why do the isolopes have same chemical but different physical properties?
(i)  Define gram formula. Give two examples.
(iii}  What is Stoichiometry? Give its two assumptions.
(iv)  Why is there a need to crysiallize the crude product?
(v}  What do you mean by solvent extraction? Which law does control it?
(vi)  How is absalute zero explained by drawing graph?
(vii) Calcuiate the value of gas constant “R” in 5.1 units.
(viii) Derive Avogadro’s Law from Kinetic molecular theory of gases.
{ix)  Lighter gases diffuse more rapidly than heavier gases. Give reasons.
(x) One molal solution of urea is mare dilute than one molar solution. Why?
(xi) Define Raoult's Law. Give one of its mathematical expression
(xiiy  What is discontinuous solubility curve? Give one example,
KN Attempt any cight parts. 8§x2=16
(i) Why do fish and plants in ponds survive under blanket of ice during cold winters?
(i)  Define Polymorphism. Give one example.
(i) Freshly cut metals show the property of metallic luster. Comment on the statement.
{iv)  Writc down any two properties of Molecular Solids.

) Calculate the mass of electron (rom its e/:/n value. Q =
i

(vi)  Justify the statement that angular momentum of an electron revolving in orbit is
(vii) How was dual nature of electron verified by Davisson and Germer?

(viil) State Aufbau principle. Write electroniv configuration of Sedium {;, Na nw's
fix)  Define the given lerms:  (n} common ion effect  (b) solubility prad

{(x) What is the difterence between heat and temperature?
{xi)  Define pseudo first arder reaction. Given one example. @
(xii) Write down two examples o expluin the activation of cataly

4. Attempt any six paris, “&
(i) Differentiate between exothermic and endothermi
(:1) Define lonizntion energy. How daes it vary i 1
(i)  lonic radii of anions are greater than their pa
(iv) €O, is non-polar whereas H,0 is polar
() Deline Dipale Moment. Give its ¥
(vi)  State !* law of thermodynamic
(vii) Define oxidation number. Caleul

(viii) Differentiate between & pri
{ix}  Write electrochemical

is principle.

Gx2=12

q} a secondary cell.
ing place in Alkaline bauery.

SECTION-1I

NOTE: - Attempt any th :
s(a)  Deserihe combustinn agalysis 1o detennine mass percentages of C. H and O in

an organic ¢ : 4
(b}  Whati ﬁ rogen Bonding? How it explains the helix structure of proteins” 4
1

6.(a) W s olir's model of an atom. 4
(h)  One mole of methane pas is maintain at 300K its volume 15 250Cm*.
Caleulate the pressure exerted by the gas. 4

Ix8=24

7.(a)  What is Electron Affinity? How does it show variation along groups and i

periods in the periodic table? 4

(b} Describe the Hess's Law of Constant Heal Summation and give one example to explain it. 4

Bam ’Vltg} and Hy ., combine Lo give NH‘(.::"‘ The value of K in this reaction at 500°C
is 6.0 % 1077, Calculate the vaiue of Kp for this reaction.

(b)  How does Arrhenius equation: help us to calculate the snergy of activation of a reaction?

9.(n) Write Landsherger's method for determination of elevation of boiling point.
{b) Define voliaic of Galvanic cell. Write its function with chemical eguations.
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